
Kondizionale	
  Satzgefüge	
  /	
  Hypothetische	
  Perioden	
  
	
  
•	
  Generell	
  gilt:	
  Die	
  Protasis	
  (Bedingungs-­‐Nebensatz)	
  wird	
  mit	
  μή	
  verneint,	
  die	
  
Apodosis	
  (zugehöriger	
  Hauptsatz)	
  mit	
  οὐ.	
  
	
  
1.	
  Indefiniter	
  Fall	
  
•	
  Die	
  sprechende	
  Person	
  drückt	
  keine	
  Erwartungshaltung	
  bezüglich	
  des	
  
Verhältnisses	
  des	
  Bedingungssatzes	
  zur	
  Wirklichkeit	
  aus.	
  
•	
  Bauplan:	
  εἰ	
  +	
  Indikativ	
  //	
  Indikativ	
  
	
  
εἰ	
  τοῦτο	
  ποιεῖς	
  (ποιήσεις,	
  ἐποίησας),	
  ἡμᾶς	
  βλάπτεις	
  (βλάψεις,	
  ἔβλαψας).	
  
Wenn	
  du	
  dies	
  tust	
  (tun	
  wirst,	
  tatest),	
  schädigst	
  du	
  uns	
  (wirst	
  du	
  uns	
  schädigen	
  /	
  
schädigtest	
  du	
  uns).	
  
	
  
Die	
  futurische	
  Variante	
  geht	
  von	
  der	
  Bedeutung	
  her	
  in	
  Richtung	
  Eventualis	
  (s.u.).	
  
	
  
	
  
2.	
  Eventualis	
  /	
  Futuralis	
  (prospektiver	
  Fall)	
  
•	
  Die	
  sprechende	
  Person	
  gibt	
  zum	
  Ausdruck,	
  dass	
  sie	
  erwartet,	
  dass	
  der	
  genannte	
  
Fall	
  eintritt.	
  Im	
  Deutschen	
  gibt	
  es	
  keine	
  entsprechende	
  Ausdrucksweise.	
  
•	
  Bauplan:	
  ἐὰν	
  +	
  Konjunktiv	
  //	
  Indikativ	
  Futur	
  
	
  
ἐὰν	
  τοῦτο	
  ποιῇς	
  (ποιήσῇς),	
  ἡμᾶς	
  βλάψεις.	
  
Wenn	
  du	
  dies	
  tust,	
  wirst	
  du	
  uns	
  schädigen.	
  
	
  
Dazu:	
  sog.	
  Iterativ	
  der	
  Gegenwart	
  (eigentlich	
  generell-­‐prospektiver	
  Fall):	
  
-­‐	
  Bauplan:	
  ἐὰν	
  /	
  ὅταν	
  +	
  Konjunktiv	
  //	
  Indikativ	
  Präsens	
  
	
  
ἐὰν	
  (ὅταν)	
  τοῦτο	
  ποιῇς	
  (ποιήσῇς),	
  ἡμᾶς	
  βλάπτεις.	
  
(Immer)	
  wenn	
  du	
  dies	
  tust,	
  schädigst	
  du	
  uns.	
  
	
  
	
  
3.	
  Potentialis	
  
•	
  Die	
  sprechende	
  Person	
  stellt	
  den	
  genannten	
  Fall	
  ausdrücklich	
  als	
  möglich	
  hin.	
  
•	
  Bauplan:	
  εἰ	
  +	
  Optativ	
  //	
  Optativ	
  +	
  ἄν	
  (bzw.	
  ἄν	
  +	
  Optativ).	
  
	
  
εἰ	
  τοῦτο	
  ποιοίης	
  (ποιήσειας),	
  ἡμᾶς	
  ἂν	
  βλάπτοις	
  (βλάψειας).	
  
Wenn	
  du	
  dies	
  tun	
  solltest,	
  dürftest	
  du	
  uns	
  wohl	
  schädigen.	
  
	
  
Dazu:	
  Iterativ	
  der	
  Vergangenheit	
  
-­‐	
  Bauplan:	
  εἰ	
  /	
  ὅτε	
  /	
  ὁπότε	
  +	
  (iterativer)	
  Optativ	
  //	
  Indikativ	
  Imperfekt.	
  
	
  
εἰ	
  (ὅτε,	
  ὁπότε)	
  τοῦτο	
  ποιοίης	
  (ποιήσειας),	
  ἡμᾶς	
  ἔβλαπτες.	
  
Immer	
  wenn	
  /	
  sooft	
  du	
  dies	
  tatest,	
  schädigtest	
  du	
  uns.	
  
	
  



4.	
  Irrealis	
  
•	
  Die	
  sprechende	
  Person	
  stellt	
  den	
  genannten	
  Fall	
  ausdrücklich	
  als	
  unwirklich	
  hin.	
  
•	
  Bauplan:	
  εἰ	
  +	
  Indikativ	
  Imperfekt	
  oder	
  Aorist	
  //	
  Indikativ	
  Imperfekt	
  oder	
  
Aorist	
  +	
  ἄν.	
  
	
  
εἰ	
  τοῦτο	
  ἔποιεις	
  (ἐποίησας),	
  ἡμᾶς	
  ἂν	
  ἔβλαπτες	
  (ἔβλαψας).	
  
	
  
Wenn	
  das	
  Imperfekt	
  verwendet	
  wird,	
  ist	
  häufiger	
  der	
  Irrealis	
  der	
  Gegenwart	
  
gemeint:	
  
à	
  Wenn	
  du	
  dies	
  tätest,	
  würdest	
  du	
  uns	
  schädigen.	
  
(Der	
  Irrealis	
  der	
  Vergangenheit	
  ist	
  aber	
  nicht	
  ausgeschlossen.)	
  
	
  
Wenn	
  der	
  Aorist	
  verwendet	
  wird,	
  ist	
  häufiger	
  der	
  Irrealis	
  der	
  Vergangenheit	
  
gemeint:	
  
à	
  Wenn	
  du	
  dies	
  getan	
  hättest,	
  hättest	
  du	
  uns	
  geschädigt.	
  
(Der	
  Irrealis	
  der	
  Gegenwart	
  ist	
  aber	
  nicht	
  ausgeschlossen.)	
  
	
  


